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nsarsEvAunnnasladIgia_(Logistic Regression Analysis)
aunnsoenatladaRAuLY binary logistic Fugunsidlunisdun el
Fautlsmuiieasdias  dausauilsdasy (independent variable) Junnnda 1 fa weika-
uwilsen (dependent variable) azatluuns NIy gJR (nominal scale) HAnfeN 2 A1
aau viellld dednnnviielideis ewlidu 0, 148 1, 2 douswlsBass
(independent variable) hldtasaudlsTidly nominal scale viadaulsifly interval

scale

A Y > 1

P {event)

4— Y = 3 + bX FaSuANNITNARALLLLLNE

/JL da Y <0
= = 1

71l 2 nswlaasiaaaiia fareglugas 0 e 1

ANNINENNTDE

Y = By+BX +BX, + B+ BX, + BXs+ BX; + BX; + BXg+ BoXg

o o dl ] g 2 =3 = ar el L%
Faen1sAnEiada NdANasaALFRINITIITY UNI AN BIUNITHUNTRIN-

AnHInausy

AnmozAauLls

as i 3s ) = ar ol LY 2
Aqullsmnu (Y) Aa AuEaInsEFaunsitaesinFuuisanAnaausiy

I

ranvuald 0 = Tifeanis

b3
1 = REINT
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FaulsBary (X) 1éun

X, = fhainGeululseGuu 0 = lLifidedes
1 = fHedes
X, = LA 0 = 4
1 = i
X, = maldreidinares el A useeu
X, = nsAnerednn 0 = FrndBeyee
1 = 1Bygsiai
X, = NSANHIIRHNTAT 0 = sndnfynnes

1 = Pyayredaull
X, = armdiasmsinmdadsan- 0 = hillfades
Anmineulans 1 = daedes

X, = \eaFsuniedtannensds 0 = e

1 = g

X, = fuusinibednqaldFeu- 0 = Ll
= ~

nIeRTN 1= 1§

X, = nsfiieulunguieuneadan 0 = il

ﬂ‘l‘g i L) o~ .Y
ADRR 1 TnagauaAIduizzAnsaeamamls

A" Pseudo R® Weuunuding R, AMuIManngms

-2 Log Lnull - ('2 LOG Lmodel)

log it - _2 LOg L

nuli

Wa null Ae Tumalszancuan
model Aa Tumauinguuy

A1 Wald Statistic

Wald statistic = (B,/S.Eg )
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B An AdRullsy@vsaassauils

S.E. fa ArpnuAfaedauNRsgurasAndulscfiviaesdous

e Bo+BXi« .+ Bo¥%o
P (\Nawwpniend) =

1+e Bo+PB1%1+...+ Bp¥e

P (Wifiammnasnl) = 1 - P (iiawgnasnd)

nstfurnuduiussendrsfanlsnnsuaiow siaseldiinonduiusiugy

Fadulne i
P (fismmnisal)
odds = P (ldifawmnmani)
P (HAisvanisad)
log
log(odds) = P (hitnawanisal)

Wi log(odds) = Bo + BiX1 + ... + PpXp
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Logistic Regression

Total number of cases: 301 (Unweighted)
Number of selected cases: 301

Number of unselected cases: 0O
Number of selected cases: 3
Number rejected because of missing data: 1

Number of cases included in the analysis: 300

Dependent Variabte Encoding:

Qriginal internal
Value Value
0 0
1 1
Dependent Variable.. Y demand for special tutorial

Beginning Block Number 0. Initial Log Likelihood Function
-2 Log Likelinood 325.96367

* Constant is included in the model.
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Beginning Block Number 1. Method: Enter
Variable(s) Entered on Step Number

1. XI study at school

X3 total income of family

x4 education level of father

X5 education levetl of mother

X6  want to study in a famous school

Estimation terminated at iteration number 6 because

Log Likelihood decreased by less than .01 percent.

-2 Log Likelihood ~ 205.656
Goodness of Fit 516.826
Cox & Snell - R"2 .330
Nagelkerke - R™2 499

Chi-Square df Significance

Model 120.307 5 0000
Block 120.307 5 .0000
Step 120.307 5 0000

—————————— Hosmer and Lemeshow Goodness-of-Fit Test-——--—

Y = do not want to special tutorial Y = want to study special tutorial

Group Observed Expected Observed Expected Tota!
1 28.000 26.262 2.000 3.738 - 30.000
2 14.000 16.657 16.000 13.343 30.000
3 4,000 4,892 14.000 13.108 18.000
4 17.000 7.761 13.000 22.239 30.000
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5 2.000 4.686 28.000 25.314  30.000
6 .000 5.775 44,000 38.225  44.000
7 1.000 2.726 31.000 29.274  32.000
8 2.000 .901 28.000 29.099  30.000
9 2.000 321 34.000 35.679  36.000
10 .000 018 20.000 19.982  20.000

Chi-Sguare df Significance
Goodness-of-fit test 36,8493 8 .0000

Classification Table for Y
The Cut Value is .50
Predicted

do not want to special tutorial ~ want to study special tutorial Percent Correct

d | w
Observed + + +
donotwanttos d ! CLUE 32 | 54.20%
+ + +
wanttostudysp w | 12 1 218 | 94.78%
+ : + +

QOverall 85.33%

- -= Vgriables in the Equation --———-——-—-- -

Variable B S.E. Wald df Sig. R
X1 1.8439 4591 16.1321 1 .0001 .2082
X3 8.60E-05 2.107E-05 16.6665 1 .0000 .2121
X4 6431 5890 11922 1 .2749 .0000
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X5 1.2449 5714 47470 1 .0293 .0918
X6 6710 4993 1.8062 1 .1790 .0000
Constant  -3.2497 5985 293856 1 .000C

95% Ct for Exp(B)
Variable  Exp(B) Lower Upper

X1 6.3211 2.5705 15.5442
X3 1.0001 1.0000 1.‘0001
x4 1.9024 5997 6.0345
X5 3.4727 1.1332 10.6421
X6 1.9562 7362 5.2048

Beginning Block Number 2. Method: Enter
Variable(s) Entered on Step Number
1. X study at school

X3 total income of family

X6 want to study at school

X7 study special tutorial

X9 friend study special tutorial
Estimation terminated at iteration number 6 because
Log Likelihood decreased by less than .01 percent.
-2 Log Likelihcod  128.141
Goodness of Fit 198.932
Cox & Snell - R™2 483
Nagelkerke - R™2 Jq29
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Chi-Square df Significance

Model 197.823 7 .0000
Block 77516 2 .0000
Step 77516 2 .0000

—--—--- Hosmer and Lemeshow Goodness-of-Fit Test-——-—-

Y = do not want to special futorial Y = want to study special tutorial

Group Observed Expected Observed Expected Total
1 31.000 30954 1.000 1.046 32.000

2 26.000 25700 16.000 16.300 42.00C
3 9.000 10.016 23.000 21.984 32.000
4 3.000 1.766  27.000 28.234 30.000
5 1.000 B03  25.000 25.397 26.000
6 .000 637 44000 43.363 44.000
7 000 237 30.000 29.763 30.000
8 .000 062 30.000 29.938 30.000
9 .000 025 34000 33.975 34.000

Chi-Square df Significance
Goodness-of-fit test  2.31568 7 2403
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Classification Table for Y
The Cut Value is .50
Predicted

do not want to special tutorial ~ want to study special tutorial Percent Correct

d | W
Observed + + +
do notwanttos d | 57 1 13 1 81.43%
+ + +
want to study sp w | 17 | 213 1 9261%
+ + +

Qverall 90.00%

e Variables in the Equation ----—-—--—-------—-

Variable B S.E. Wald df Sig R
X1 2.2993 B£125  14.0047 1 0002 .2425
X3 3.05E-05 1.696E-05 3.2291 1 0723 0773

X4 .6324 7670 6797 1 4097 .0000
X5 1.9334 .7868 6.0383 1 0140 1401
X6 1.1838 .6108 3.7571 1 0526 .0924
X7 4.0483 .6484 38.8811 1 0000 .4241
X8 1.1970 7218 2.7499 1 0973 .0604

Constant -5.6892 1.1655 24.2403 1 .0000

95% Cl for Exp(B)
Variable  Exp(B) Lower Upper
X1 9.9674 3.0010 33.1056
X3 1.0000 1.0000 1.0001
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X4 1.8821 4186  8.4628
X5 6.9131 1.4789 32.3153
X6 3.2669 9869 10.8146
X7 57.3006 16.0781 204.2129
X9 3.3100 .8043 13.6218

Beginning Block Number 3. Method: Enter
Variable(s) Entered on Step Number
1.. X3 total income of family
X5 sducation level of mother
X6 want to study at school
X7 study special tutorial
X8 persuade
Estimation terminated at iteration number 6 because

Log Likelihood decreased by less than .01 percent.

-2 Log Likelihood  126.300
Goodness of Fit 218.677
Cox & Snell - R*2 486
Nagelkerke - R*2 733

Chi-Square df Significance
Mode! 199.663 8 .0000
Block 1.840 1 1749
Step 1.840 1 1749
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———— Hosmer and Lemeshow Goodness-of-Fit Test-————-—-

Y = do not want to special tutorial Y = want to study special tutorial

Group Observed Expected Observed Expected Total

1 29.000 29.351 1.000 649 30.000

2 25.000 23.259 9.000 10.741  34.000
3 11.000 12.001 19.000 17.999  30.000
4 3.000 3.379 27.000 26.621 30.000
) 2.000 049 27.000 28.051  29.000

6 .000 . 165 10.000 9,845 10.000
7 .000 596 44.000 43404  44.000
8 .000 224 31.000 30.776  31.000
9 .000 .062 30.000 29938  30.000
10 .000 024 32.000 31976 32.000

Chi-Square df Significance
Goodness-of-fit test  3.0692 8 9299

Classification Table for Y
The Cut Value is .50
Predicted

do not want to special tutoriai want to study special tutorial Percent Correct

d | w
Observed + + +
donotwanttos d | 55 | 15 | 7857%
+ + —
wanttostudysp w | 10 1 220 | 95.65%
+ + +

" Overall 91.67%



--——---——---- Variables in the Equation --———-—--

Variable

X1
X3
X4
X5
X6
X7
X9
X8

Constant

Variable
X1
X3
X4
X5
X6
X7
X9
X8

B
2.2722

S.E.
6143

2.92E-05 1.708E-05

.8402
1.6111

1.3567

3.6779
1.1403
7466
-5.9607

.7881
.8050
6429
.6958
7116
5510
1.1783

Wald
13.6822
2.9222
1.1366
4.0060
4.4526
27.9436
2.5684
1.8364
25.5805

95% Cl for Exp(B)

Exp(B)

9.7006
1.0000
2.3167
5.0084
3.8833

Lower
2.9102
1.0000

4944
1.0340
1.1013

39.5634 10.1172

3.1279
2.1099

J755
7166

Upper
32.3353
1.0001
10.8562
24.2590
13.6923
154.7124
12.6161
6.2122

df

1
1

Sig

.0002
0874
2864
0453
.0348
.0000
1090
1754
.0000

3019
0848
.0000
1251
1383
.4500
0666
.0000
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Beginning Block Number 4. Method: Enter
Variable(s) Entered on Step Number
1. X1 study at school
X3 total income of family
X4 education level of father
X9 friend study special tutorial
X2 sex
Estimation terminated at iteration number 6 because

Log Likelihcod decreased by less than .01 percent.

-2 Log Likelihcod  124.902
Goodness of Fit 248.449
Cox & Snell - R*2 488
Nageilkerke - R*2 a37

Chi-Square df Significance

Model 201.062 9 .0000
Block 1.398 1 2370
Step 1.398 1 2370

-——--—- Hosmer and Lemeshow Goodness-of-Fit Test-—-m--

Y = do not want to special tutorial Y = want {0 study special tutorial

Group Observed Expected Observed Expected Total
1 29.000 29.569 1.000 431 30.000
2 23.000 21.044 7.000 8.956 30.000
3 12.000 12.933 18.000 17.067 30.000
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4 5000  4.152 27.000 27.848  32.000
9] 1.000 1.145 29.000 28.855  30.000
6 .000 703 40.000  38.297  40.000
7 .000 . .317 30.060 29.683  30.000
8 .000 .096 30.000 29.904  30.000
9 .000 033 30.000 20967  30.000
10 000 .008 18.000 17.992  18.000

Chi-Square df  Significance
Goodness-of-fit test 2.8817 8 9416

Classification Table for Y
The Cut Value is .50
Predicted

do not want to special tutorial want to study special tutorial Percent Correct

d | w
Observed + + +
donotwantios d | 55 | 15 | 78.57%
+ + + |
wanttostudysp w | 12 | 218 | 94.78%
+ + +

Overall 91.00%



-mem—-——— Variables in the Equation --—---—-———---

Variable

X1
X3
x4
X5
X6
X7
X9
X8
X2

8

2.3150

S.E.

6292

2.44E-05 1.691E-05

.8440
1.8551
1.5548
3.4413
1.1895

.8430

1542

Constant -6.4353

Variable
X1
X3
x4
X5
X6
X7
X9
X8
X2

.8000
.8504
6791
.7089
7478
5596
.6479
1.3337

Wald

13.5377
2.0742
1.1131
4.7589
5.2416

23.5638
2.5304
2.2694
1.3550

23.2835

95% ClI for Exp(B)

Exp(B)

10.1247
1.0000
2.3257
6.3924
4.7340

31.2268
3.2854
2.3234
2.1259

Lower

Upper

2.9500 34.7489

1.0000

1.0001

4848  11.1567

1.2073 33.8468

1.2508 17.9179

7.7821 125.3030

7587  14.2267

7759
0971

6.9579
7.5694

df

1

Sig

.0002

1498

2914
0291
0221
.0000
A7
1319
2444
.0000

R

3022
0242
.0000
1478
1602
4132
.0648
0462
.0000
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Beginning Block Number 5. Method: Enter
Variable(s) Entered on Step Number
1.. X3 total income of family
X4 education level of father
X5 education level of mother
X8 persuade
X2 sex
Estimation terminated at iteration number 6 because

Log Likelihood decreased by less than .01 percent.

-2 Log Likelihood 124,902
Goodness of Fit 248.449
Cox & Sneli - R*2 488
Nagelkerke - R"2 A37

Chi-Square df Significance
Model 201.062 9  .0000

-—m— Hosmer and Lemeshow Goodness-of-Fit Test-——----

Y = do not want to special tutorial Y = want to study special tutorial

Group Observed Expected Observed Expected Total

1 29.000 29.569 1.000 431 30.000
2 23.000 21.044 7.000 8.956 30.000
3 12.000 12.933  18.000 17.067 30.000
4 5.000 4152  27.000 27.848 32.000
5 1.000 1.1456  29.000 28.855 30.000
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6 .000 703 40.000  39.297 40.000
7 000 317 30.000 29.683 30.000
8 .000 096  30.000 29.804 30.000
9 000 033  30.000 29.967 30.000
10 .000 008 18.000 17.992 18.000

Chi-Square df Significance
Goodness-of-fit test  2.8817 8 9416

Classification Table for Y
The Cut Value is .50
Predicted

do not want to special tutorial  want o étudy special tutoriai Percent Correct

d 1 w
Observed + + +
donotwanttos d | 5 | 15 | 78.57%
+ + +
wanttostudysp w | 12 | 218 | 9478%
+ + +

Overall 91.00%

. mmmmmmmmm-eee—— V@riables in the Equation ------—--mmmm
Variable B Sk Wald df Sig R
X1 2.3150 6292 13.5377 1 .0002 3039
X3 2.44E-05 1.691E-05 2.0742 1 .1498 .0244
X4 .8440 8000  1.1131 1 .2914 .0000



X5
X6
X7
X9
X8
X2

Constant

Variable

X1
X3
X4
X5
X6
X7
X9
X8
X2

Beginning Block Number .6. Method: Enter

1.8551

| 1.6548
3.4413
1.1895
.8430
1542
-6.4353

8504
Nergey
.7089
7478
5596
6479

4.7588
5.2416
23.5638
2.5304
2.2694
1.3550

1.3337 23.2835

95% ClI for Exp(B)

Exp(B)
10.1247
1.0000
2.3257
6.3924
4.7340

31.2268
3.2854
2.3234
2.1259

Lower

2.9500
1.0000

.4848
1.2073
1.2508
7.7821
. (987
. 7799

5871

Upper
34,7489
1.0001
11.1567
33.8468

17.9179 -

125.3030
14.2267
6.9579
7.5694

Variable{s) Entered on Step Number

1.

X4
X5
X6
X7
X2

education level of father

education leve! of mother

want to study at schoot

study special tutorial

5ex

72

0291
0221
.0000
1117
1319
2444
.0000

.1486
1611
4155
0652
0464
.0000
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Estimation terminated at iteration number 6 because

Log Likelihood decreased by less than .01 percent.

-2 Log Likelihood ~ 124.902
Goodness of Fit 248.449
Cox & Snell- R"2 488
Nagelkerke - R*2 J37

Chi-Square df Significance
Model 201.062 9 .0000

m—————- Hosmer and Lemeshow Goodness-of-Fit Test————
Y = go not want to special tutorial Y = want to study special tutorial

Group Observed Expected Observed Expected Total

1 29.000 29.569 1.000 431 30.000
2 23.000 21.044 7.000 8.956  30.000
3 12,000 12,033 18.000 17.067  30.000
4 5.000 4.152  27.000 27.848  32.000
5 1.000 1.145  29.000 28.855  30.000
6 .000 703 40.000 39.297  40.000
7 .000 | 2317 30.000 20.683  30.600
8 000 096  30.000 29.904  30.000
9 .000 | 033  30.000 29.967  30.000
10 .000 008  18.000 17.992  18.000

Chi-Square df Significance
Goodness-of-fittest 2.8817 8 0418
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Classification Table for Y
The Cut Value is .50
Predicted

do not want tospecial tutorial want to study special tutorial Percent Correct

d | w
Observed + + +
donotwanttos d | 5 i 15 | 78.57%
+ + +
wanttostudysp w | 12 | 218 | 94.78%
+ + +

Overall 91.00%

----------------- Variables in the Equation -----—---——-—-—

Variable B S.E. Wald af  Sig R

X1 2.3150 6292 135377 1 .0002 .3038
X3 2.44E-05 1.691E-05 20742 1 1498 .0244
X4 .8440 8000 11131 1 .2914 .0000
x5 1.85561 .8504 47589 1 .0291 .1486
X6 1.5548 8791 52416 1 .0221 1611
X7 3.4413 1089 23.5638 1 .0000 .4155
X9 1.1895 7478 25304 1 1117 0652
X8 .8430 5596 22694 1 1319 .0464
X2 7542 6479 1.3550 1 .2444 .0000

Constant -6.4353 1.3337 23.2835 1 .0000
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95% CI for Exp(B)

Variable Exp(B) Lower Upper

X1 10.1247 29500 34.7489
X3 1.0000 1.0000 1.0001
X4 2.3257 4848 111 567
X5 6.3924 1.2073 33.8468
X6 4.7340 1.2508 17.9179
X7 31.2268 7.7821 125.3030
XS - 3.2854 7587 14.2267
X8 2.3234 J759 6.9579
X2 _ 2.1259 5971 7.5694

Beginning Block Number 7. Method: Enter
Variable(s) Entered on Step Number
1. X4 education level of father
X6 want to study at school
X7 study special tutorial
X9 friend study special tutorial
X8 persuade
Estimation terminated at iteration number 6 because

Log Likelihood decreased by less than .01 percent.

-2 Log Likelihood  124.902
Goodness of Fit 248.449
Cox & Snell- R"2 488
Nagelkerke - R*2 37
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Chi-Square df Significance
Model 201.062 9 L0000

---—--—— Hosmer and Lemeshow Goodness-of-Fit Test-------—-

Y = do not want to special tutorial Y = want to study special tutorial

Group Observed Expected Observed Expected Total

1 29.000  29.569 1.000 431 30.000
2 23.000 21.044 7.000 8.956 30.000
3 12.000 12.933 18.000 17.067 30.000
4 5.000 4.152 27.000 27.848 32.000
5 1.000 1.145 20.000 ~ 28.855 30.000
6 000 .703 40.000 39.297 +40.000
7 .000 317 30.000 29.683 30.000
8 .060 .096 30.000 29.904 30.000
9 .000 033 30.000 29.967 30.000
10 .000 .008 18.000 17.992 18.000

Chi-Square df Significance
Goodness-offittest  2.8817 8 9416
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Classification Table for Y
) The Cut Value is .50
Predicted

do not want to special tutorial want to study special tutorial Percent Correct

d | w
Observed + o+ -+
donotwanttos o | 55 i 15 | 7857%
+ + +
wanttostudysp w | 12 | 218 | 94.78%
+ + +

Qverall 91.00%

m-mmmmememeneeee \@rigbles in the Equation ----m---m-—r—-—-

Variable B S.E. Wald df Sig R

X1 2.3150 6292 135377 1 .0002 .3039
X3 2.44E-05 1.691E-05 20742 1 1498 .0244
X4 .8440 8000 11131 1 .2914 .0000
X5 1.8551 8504  4.7588 1 .0291 .1486
X6 1.5548 879 52416 1 .0221 .1611
X7 3.4413 7089 235638 1 .0000 .4155
X9 1.1895 7478 25304 1 117 0652
X8 8430 0586 22694 1 1319 .0464
X2 7542 6479 1.3550 1 .2444 .0000

Constant -6.4353 1.3337 23.2835 1 .0000
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95% CI for Exp(B)

Variable Exp(B) Lower Upper

X1 10.1247 2.9500 34.7489
X3 1.0000 1.0000 1.0001
X4 2.3257 4848 11.1567
X5 6.3924 1.2073 33.8468
X6 4,7340 1.2508 17.9179
X7 31.2268 7.7821 125.3030
X9 3.2854 .f587 14.2267
X8 23234 7759 6.9579
X2 21268 .b971 | 7.5694

Beginning Block Number 8.’ Method: Enter
Variable(s) Entered on Step Number
1. X1 study at school
X3 total income of family
X4 education level of father
X5 education level of mother
X7 study special tutorial
Estimation terminated at iteration number 6 because

Log Likelihood decreased by less than .01 percent.

-2 Log Likelihood  124.902
Goodness of Fit 248.449
Cox & Snell - R™2 488
Nagelkerke - R"2 737 ¢
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Chi-Square  df Significance
Model 201.062 9 .0000

---------- Hosmer and Lemeshow Goodness-of-Fit Test——---—

Y = do not wani to special tutorial Y = want to study special tutoriai

Group Observed Expected Observed Expected Total

1 28.000 29.569 1.000 431 30.000
2 23.000 21.044 7.000 8.956  30.000
3 12.000 12.933  18.000 17.067  30.000
4 5.000 4.152 27.000 27.848  32.000
5 1.600 1.145  29.000 28.855  30.000
6 .000 703 40.000 39.297  40.000
7 .000 317 30.000 29.683  30.000
8 000 .096 30.000 29.904  30.000
9 .000 033 30.000 29.967 30.000
10 .000 008 18.000 17.992 18.000

Chi-Square df Significance
(Goodness-of-fit test 2.8817 8 9416
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Classification Table for Y
The Cut Value is .50
Predicted

do not want to special tutorial  want to study special tutorial Percent Correct

d | W
Observed | + + +
donotwanttos d | 5 | 5 1 7857%
+ + +
wanttostudysp w I 12 | 218 | 94.78%
+ + +

Overall 91.00%

——————————————— Variables in the Equation -—-------r-———--

Variable B S.E. Wald df  Sig R

X1 2.3150 6292 135377 1 .0002 .3039
X3 244E-05 1.691E-05 2.0742 1 .1488 .0244
X4 .8440 8000 11131 1 2814 .0000
X5 1.8551 8504 4.7589 1 .0281 .1486
X6 1.5548 B791 52416 1 .0221 1611
X7 3.4413 7089 235638 1 0000 .4155
X9 : 1.1895 7478 25304 1 1117 0652
X8 .8430 .5596' 2.2694 1 .1319 .0464
X2 7542 6479 1.3550 1 .2444 .0000

Constant  -6.4353 1.3337 23.2835 1 .0000
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95% CI for Exp(B)

Variable Exp{B) Lower Upper

X1 10,1247 2.9500 34.7489
X3 1.0000 1.0000  1.0001

X4 2.3257 4848  11.1567
X5 6.3924 1.2073 33.8468
X6 4.7340 1.2508 17.9179
X7 31.2268  7.7821 125.3030
X9 3.2854 7587  14.2267
X8 2.3234 J759  6.9579

X2 21259 5971 7.5694
Beginning Block Number 9. Method: Enter
Variable(s) Entered on Step Number
1. X1 study at school
X3 total income of family
X4 education level of father
X5 education ievel of mother
X8 persuade
Estimation terminated at iteration number 6 because

Log Likelihood decreased by less than .01 percent.

-2 Log Likelihood = 124.902
Goodness of Fit 248.449
Cox & Sneil - R*2 488
Nagelkerke - R"2 737
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Chi-Square df Significance
Model 201.062 9 .0000

---------- Hosmer and Lemeshow Goodness-of-Fit Test———---

Y = clo not want to special tutorial Y = want o study special tutorial

Group  Observed Expected Observed Expecied Total

1 20.000 29.569 1.000 431 30.000
2 23.000 21.044 7.000 8956  30.000
3 12.000  12.933 18.000 17.067  30.000
4 5.000 4.152 27.000 27.848  32.000
5 | 1.000 1.145 28.000 28.855  30.000
6 .000 703 40.000 39.297  40.000
7 .000 317 30.000 29.683  30.000
8 .000 096 30.000 29.804  30.000
9 .000 .033 30.0C00 29.867  30.000
10 .000 .008 18.000 17.992 18.000

Chi-Square df Significance
Goodness-of-fittest  2.8817 8 9416
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Classification Table for Y
The Cut Value is .50
Predicted

do not want to special tutorial  want to study special tutorial Percent Correct

d | w
Observed + + +
donotwanttos d | 5 1 15 1 78.57%
+ + +
wanttostudysp w | 12 | 218 | 94.78%
+ + +

Overall 91.00%

-——-————— Variables in the Equation ~-—————--

Variable B S.E. Wald df  Sig R

X1 2.3150 6292 13.8377 1 .0002 .3039
X3 2.44E-05 1.691E-05 20742 1 .1408 .0244
X4 8440 8000 1.113t 1 2014 .0000
X5 1.8551 8504 47589 1 .0291 .1486
X6 1.5548 £791 52416 1 ..0221 1611
X7 3.4413 7089 235638 1 .0000 .4155
X9 1.1895 7478 25304 1 1117 .0852
X8 8430 5596 22694 1 .1319 .0464
X2 7542 6479  1.3550 1 .2444 0000

Constant -6.4353 1.3337 232835 1 .0000



Variable

X1
X3
X4
X5
X6
X7
X9
X8
X2

95% Ci for Exp(B)

Exp(B)

101247
1.0000
2.3257
6.3924
4.7340

31.2268
3.2854
2.3234
2.1259

Lower

2.9500
1.0000
4848
1.2073
1.2508
7.7821
1587
7759
5971

Upper
34.7489
1.0001
11.1567
33.8468
17.9179
125.3030
14,2267
6.9579
7.5694

84
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Dependent Variable: Y

Method: ML — Binary Logit

Date: 08/20/02 Time: 16:12

Sample: 1 300

Included observations: 300

Convergence achieved after 10 iterations

Covariance matrix computed using second derivatives

Variable Coeffciient Std. Error z-Statistic Prob.
C -6.431024 1.333396 -4.823040 0.0000
X1 2.313131 0.629107 3.676850 0.0002
X2 0.752263 0.647943 1.161001 0.2456
X3 2.44E-05 1.69E-05 1.440996 0.1496
X4 0.849500 0.798942 | 1.063281 0.2877
X5 1.850237 0.850197 2.176245 0.0295
X6 1.551335 0.679617 2.282659 0.0225
X7 3.438832 0.708957 4.850550 0.0000
X8 0.842719 0.559469 1.506285 0.1320
X9 1.187810 0.747725 1.588565 0.1122
Mean dependent var 0.766667 S.D. dependentvar  0.423659
S.E. of regression 0.257371 Akaike info critertion  0.482944
Sum squared resid 19.209540 Schwarz criterion 0.606403
Log likelihood -62.44155 Hannan-Quinn criter  0.532352
Restr. Log tikelihood -162.9818 Avg. log likelihood -0.208138
LR statistic (8 df) 201.0806 McFadden R-squared 0.616880
Probabitity (LR stat) 0.000000
Obs with Dep=0 70 Total obs 300
Obs with Dep=1 230
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